(Pr.N0.2224— A)
1 > KRFS5F=ZEZC Mo CDHBDHEN SR

I ®3(x—-4)-2(x—-2)=0
@ 4 (x-2) =3 (x+1) 3x —-12 -2x+4=0
4 x—-8 =3x +3 3x—-2x=0+12-4
4 x—-3x=3+8 x=8
x=11
. ox=11 Z. . x=8
@ 7 (x—-1) =42 ® 4 (x+3) =7«
7x—-7 =42 4x+12=7x
7x=42+7 4 x—-—7x=—-12
7x=49 —-3x=-12
_ 49 _o12
Y=g YT T3
x=7 x=4
. x=7 =z . x=4

® 6-5(kx-2) =-4

6 —-5x+10=-4 @ 3x-6 (18-x) =9
-5x=-4-6-10 3x—-108+6x =9
-5x=-20 3x+6x=94+108

=20 9x=117
T _ 117
x=4 YT 9
. x=4 x=13
. x=13
@7=4(2x—-1)-3(4x-5)
7=8x-4 —-12x+15 2 (x+3) =x+8
-8x+12x=-4+4+15-7 2x +6=x+8
4 x= 4 2x —x=8-6
4 x -
Y=g
x=1

oy

. x=1 . x=2

(Pr.No.2224+4+a—-A)
1 RIS FZE=EC MO ZDHDHEN HBER

I
® 2x-3 (x—-4) =7 ® 3=1- (8-2x)
2x—-3x+12 =7 3=1 -8+4+2«x
2x—-3x=7-12 -2x=1-8-3
—-x=-5 -2x=-10
.S L. lo0
-1 -2
x=5 x=5
E. x=5 &, . x=5
@ 5 (x+1) =10 (2+x) ®3(x—-5)-2(x+10)=4
5x +5=20+10« 3x—-15-2x-20 =4
5x-—10x=20-5 3x—-2x=4+15+20
—-5x=15 x=39
_15
R
x=—3 Z. x=39
S.x=-3 @5-3 (x-1) =7 x+8
® 4 (x+4) +1=65 5 -3x+3 =7x+8
4x+16 +1=65 -3x-7x=8-5-3
4x =65-16-1 -10x=0
4x=48 __0
_a8 "= To
= 4 x=0
x=12 . x=0
E. . x=12
@ 2x-3(2-x) =4 5(x—3)-8(-2+x)=-5
2x—-6+3x=4 5x-15 +16-8x=-5
2x+3x=4+6 5x-8x=-5+15-16
5x=10 -3 x=-
L Lo -
5 -3
x =2 x =2
. x=2 . x=2




